Original ROCO-Ersatateile ORoco 43013
Original ROCO Replacement Parts TEE601 DR 43902

S| Art-Nr. Text g%
1| 10020 Solfitte 99
Festboon bulb
2| 10026 | Glahlampe 99
Light bulb
3| 85002 | Motor 99
Motor
4| 85670 Zylinderkoptschraube M 2x4 2
Cheese headed screw M 2x4
5| 85671 | Zylinderkoplschraube M 2x5 2
Cheese headed screw M 2x5
6| 85677 | Zylinderkopfschraube M 2x14 ' 2
Cheese headed screw M 2x14
7 | 85800 | Selbstschneideschraube 2,2x6,5 2
Screw 2.2x6.5
8| 86225 | Blattfeder 1
Leaf spring
9 | 87068 Kardanschale 2
Cardan bearing
10 | 87682 Platine kpl. tir Via 34
Printed circuit assembly for Via
11| 87683 Platine kpl. fir Vib 32
Printed circuit assembly for Vb
12 | 89226 Scharfenbergkupplung 4
Scharfenberg coupling
13| 93169 | Lichtleitstab 6
Light transmission bar
14| 93170 Linse, rechts 2
Lens, right
15| 83171 Linse, links 2
Lens, left
16 | 93172 | Fensterluken, rechts 4
Windows, right
17| 93173 Fensterluken, links 4
Windows, left
18 | 93176 | Leuchtstab fir Innenbeleuchtung 4
Light transmission bar for internal
hghting set e
19| 83177 | Fenster fiir Filhrerstand ﬁ -q NI
Cab glazing
20 | 93182 Lichtabdeckung 2
Light cover
21| 93183 Kupplungshaube 2
Coupling hood
22| 93184 | Bremsschlauch, links 1
Brake pipe, left
23| 93185 | Bremsschlauch, rechts 1
Brake pipe, right
24 | 93186 Lichtabschirmplatte 2
Light screening
25 | 93187 | TEE-Symbol 2
TEE-symbol
26 | 93202 | Gummiwulst fir Via / Vib kpl. 18
Rubber bulge for Via / Vb assembly
27 | 93203 | Inneneinrichtung fir Vta / Vib kpl. 12
Interior layouts for Via / Vtb assembly
28 | 93288 | Dach komplett 29
Roof assembly
29 | 93289 Gehause fir Vta / Vtb &0
Body for Vita / Vib
30 | 93290 Zinkalrahmen fir Vta 38
Loco main frame for Via
31| 93291 Zinkalrahmen 10r Vib 38
Loco main frame for Vib
32 | 95533 | Fenster, rechis 4
Glazing, right
33| 95534 Fenster, links 4
Glazing, left
34 | a7701 Platine komplett 1ir Via 34
Printed circuit assembly for Via
- 35 7702 Platine komplett flr Vtb 32
?;) /{0‘25 ? Printed circuit assembly for Vib
Pk “{g O l_@ 36 | 89940 | Elektischer Umschalter ag
Electronic direction of motion switch
ACHTUNG: Teile Pos. Nr. 1, 7, 18 nur bei Art. Nr. 43013 eingebaut.
COUTION: Paris Pos. Nr. 1, 7, 18 only to be used by Art. Nr. 43013

Art. Nr. B043013 - 500 Anderungen vorbehalten Ausgabe 91 /1 Biant 276 / 1
Best. Nr. 84873 We reserve right to make changes Edifion 91 /1 Page 276 /1



